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1. - 16. sorularda, cimlede bos
birakilan yerlere uygun diisen sézciik
ya da ifadeyi bulunuz.

As it was ----, they had to apply special
make-up to cover the scar on the young
actress’s face.

as noticeable as

B) so noticeable that

C) too noticeable

D) more noticeable than
E) the most noticeable

Learning Turkish should be far ---- for the
Japanese than learning any European
language.

A) most difficultly
B) less difficult

C) at least difficult
D) the least difficult
E) more difficultly

Since Mike pulled his parachute open rather

----, his fall took longer than the others.

A) too soon

B) as soon

C) so soon that
D) so sooner

E) soon enough

The tiny hummingbird flaps its wings ---- to
appear to have no wings and hang in the air

like magic.

A) fastest
B) too fast
C) faster as
D) as fast
E) sofastas
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5. Most vinyl record albums from around the

globe have already become ---- to have a
considerable antique value.

A) sorare
B) rare enough
C) asrare as

D) too rare
E) sorarely

The taste of the dish is ---- from its variants

that you don’t need to be a gourmet to be
able to notice it.

A) such a distinct
B) too distinctly
C) distinct enough
D) as distinctly as
E) so distinct

We were so disappointed to see that the
holiday resort was not nearly ---- it was
claimed in the brochures.

A) as attractive as

B) more attractive than
C) such attractive

D) quite attractively as
E) so attractive that

With the heavy dependence of its industries

on fossil fuels, the USA is by far ----
contributor to air pollution.

A) quite bigger
B) biggest

C) asbigas
D) the biggest
E) too biga

ADJECTIVES - ADVERBS
& COMPARISON




9.

10.

1.

12.

Our current method does not seem ---- it is
ever going to work the way we would like it

A) if

B) the same as
C) asif

D) though

E) justlike

On Mars, you would weigh less than half ----
you do on Earth.

A) so many as
B) as fewas
C) more

D) so little

E) as much as

It seems to me that in the future, people will
grow much ---- to paying huge sums of
money for amusement.

A) less accustomed than
B) more accustomed

C) the least accustomed
D) too accustomed

E) accustomed enough

| know both of the brothers well enough to
be sure that Jack is ---- one.

A) younger
B) the youngest
C) youngest
D) the younger
E) as young
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13.

14.

15.

16.

The dish turned out to be impossible to cook
because of the spices in it that are ----
typically found in far Eastern cuisines.

A) such as
B) so much
C) most
D) as

E) the most

As the roads will be full of holiday traffic, it
is very unlikely that we will be able to go ----
than 50 km/h.

A) asfastas
B) any faster
C) quite faster
D) the fastest
E) so faster

Most planets in our solar system are not ----
to the Sun to have an average surface
temperature above zero.

A) close enough
B) as close as

C) more closely
D) closely enough
E) too closely

As | am already pressed for time, Friday
afternoon is ---- | can finish the report.

A) earliest

B) early enough
C) earliest of all
D) fartoo early

E) the earliest
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1. - 16. sorularda, cimlede bos
birakilan yerlere uygun diisen sézciik
ya da ifadeyi bulunuz.

English has become ---- dominant in the last
sixty years ---- there is hardly any language
that has not borrowed any words from it.

less / than
B) so/that
C) as dominant/ as
D) such/that
E) more/than

Unfortunately, the presentation did not seem
---- for the committee to be impressed.

A) effective enough
B) so effective as

C) too effective

D) as effectively as
E) effectively enough

Though not quite ----, Frank’s son became a
doctor ---- him.

A) successful enough / like

B) so successfully / as

C) too successful / such as

D) successfully enough / similar to
E) as successful / like

Carl is ---- over his football team ---- anyone
comment mockingly about it.

A) so fanatically / letting

B) as fanatically / to letting
C) too fanatic / to let

D) fanatic enough /to let

E) so fanatic / letting
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In order to prevent future conflicts, you had
better talk everything out with him ---- can
be.

too honest to
B) so honestly that

C) honestly enough to
D) as honestly as

E) more honestly than

While some claim it to be ---- most other
forms, nuclear energy is considered to be
---- threat to environment by others.

A) too clean to / a bigger

B) much cleaner than / the biggest

C) ascleanly as / a bigger

D) much more cleanly than / the biggest
E) far cleaner than / biggest of all

As we have to decide for one of them, we
had better omit ---- of the two possibilities.

A) less likely one
B) far too likely
C) the less likely
D) as likely as

E) the least likely

| thought the conference would be boring as
usual, but it turned out to be ---- interesting.

A) afairly
B) rather
C) byfar
D) least
E) the more




9.

10.

1.
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When she told me about it the other day,
Vanessa was not ---- about accepting that
job offer ---- you say she is now.

A) too enthusiastic / that

B) such enthusiastic / than

C) enthusiastic enough / to
D) so enthusiastic / as

E) the least enthusiastic / that

Planets of other solar systems are ---- from
ours to be seen even through ---- telescopes.

A) much more distantly / the stronger
B) too distant/ the strongest

C) as distantly as / strongest

D) more distant / the stronger

E) far more distantly / the strongest

There were ---- huge waves ---- the small
boat stood no chance of surviving the
storm.

A) such/that

B) too many / for
C) so/that

D) asmany/as
E) so many /than

As one ages past the thirties, time seems to
pass ---- quickly.

A) far little

B) asomewhat
C) quite a

D) much too

E) the less
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13. Though it is getting warmer and warmer, it is

not ---- yet to swim in the outdoor swimming
pool.

A) too warm

B) sowarm

C) the warmer than
D) the warmest

E) warm enough

14. ---- you get, ---- you are to develop certain

15.

16.

diseases.

A) As old / the less likely

B) The oldest/the most likely

C) The older / the more likely

D) However older / the less likely
E) As older/ so likely

The decoration of the wedding hall was ----
appealing to the eye ---- the food that was
rich and delicious.

A) much/than
B) so/that

C) more / that
D) far/to

E) as/as

Although we had hoped to find better seats
at the theatre, the only ones left were not ----
bad either.

A) such
B) that

C) the most
D) as

E) the least
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1. - 16. sorularda, cimlede bos
birakilan yerlere uygun diisen sézciik
ya da ifadeyi bulunuz.

Luckily, the kitchen was not in ---- mess ---- | 5. Theoretically, a star can be hundreds of
thought | would find it after my son’s party. times ---- our sun, but its lifetime will have to
be ---- shorter.
A) so/that
B) as many/as A) so massively as / too
C) sucha/as B) massive enough to / that
D) much /than C) too massively to/ so
E) such a/that D) more massive than / as
E) as massive as/ much
2. |was ---- that day ---- | locked myself out of 6. Thanks to the network of high-speed trains,
my flat when | took out the garbage. travelling by railroad in Europe to ----
destinations is ---- flying now.
A) absent-minded enough / to
B) as absent-minded / as A) so many / the fastest of
C) such an absent-minded / that B) many/ so fast as
D) more absent-minded / than C) most/ much faster than
E) so absent-minded / that § D) so much/ so fast that
Q E) much/ so faster than
s
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If you learn some of ---- phrases and words g 7. The Germans had ---- technology to build
used in Spanish daily life, you will ---- be = submarines for military purposes ---- the
able to make yourself understood. turn of the 20* century.
A) more commonly / more than A) more/ early as
B) the most common / at least B) too much/so early as
C) the more common / so little as to C) as many / the earliest of
D) most common / more than D) so much / earlier that
E) the most commonly / as much E) enough/ as early as
L]
e)
3 The camera which we both liked seemed far 8. Objects weigh ---- on the moon, but their
| ---- the others, but it was ---- to buy. mass remains ---- wherever they are.
E A) as practical as / expensive enough A) much less / the same
(] B) more practically than / far more expensive B) too little / as little
E C) so practically as / the more expensive C) as much as/such as
(=] D) more practical than / too expensive D) far more / similarly
"b_lo E) too practical to / more expensive E) sofew/ similarto
0
7/}
<
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Celery is ---- difficult to digest ---- our body
burns more calories to burn it than it
provides.

A) more /than
B) as/as

C) theless/ of
D) so/that

E) so/as

---- people claim that the media has ----
power now, compared to a decade ago.

A) So many / more than

B) Far more / the fewer

C) As much/so much

D) Just as many/so many
E) More and more / too much

The traffic here is ---- on Friday evenings,
when there are ---- people leaving the city for
the weekend.

A) pretty badly / such a lot of
B) especially bad / so many

C) so bad/too much

D) rather badly / much more

E) quite bad / as many

My first impression of the hot Mexican dish
was that it was ---- different ---- what | had
eaten before.

A) completely / from
B) abit/that

C) the same/as

D) absolutely / of

E) similar/to
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13. On her first day ---- a teacher, Shelly was

14.

15.

16.

rather ---- to go to class.

A) for/ as nervously

B) such as/ so nervous
C) as/too nervous

D) like / such nervous
E) as/ nervous enough

Though our skin is ---- at protecting us from
---- harmful effects of the sun, it is useless
against too much ultraviolet sunlight.

A) efficiently / all of

B) less efficiently / the most
C) so efficient / more of

D) as efficiently / the most
E) efficient enough / most

The stimulating effect of caffeine is ---- that
of ---- drugs like cocaine.

A) as/ the stronger

B) similar to / the strongest
C) |justas/ stronger

D) similarly / strong

E) likewise / strongest

We had been told that the beach was not ----
far from the hotel, but it took ---- a long way
to walk there.

A) fairly / too

B) rather/very
C) quite / fairly
D) very/ quite

E) nearly / pretty



ADJECTIVES - ADVERBS &
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INFLENCE 12,

1 - 12. sorularda ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

1. Itis more effective to target small groups of 4. ----, none has more useful properties than
people when advertising a product ----. gold.
A) that they will be more inclined to buy a A) Of all the minerals extracted from the earth
particular one B) Though gold and silver are both popular
B) as something new will never fail to attract trading metals
millions C) As many precious metals as man can
C) than doing it through television process
commercials D) The scarcest of all the precious metals and
D) who will all have more or less the same minerals
preferences E) There are so many different commodities
E) than those who try to sell them to few with which to trade
people
2. ---- as most of the male members of his 5. Itis claimed that Bill Gates once remarked
family before him. § that 640K of memory should be enough ----.
[8)
A) Women and girls were heavily = A) as anyone working anywhere would ever
outnumbered in Dirk’s family = need to have
B) When he chose to join the army, he did not .2 B) to the one that would be downloaded
fear to have the same grim fate = C) for even a single picture takes up more
C) Jonathan took over and improved his a than that
father’s business instead of going to college 5 D) that there should be no reason why larger
D) Competition to run the family business was > ones have to be made
as tough as could be g E) for anyone to be able to do what they want
E) My father was the only one who made it = onaPC
until the ninth grade
The puppy was looking so cutely and 6. --—--, and even more so when children are
innocently at her ----. involved.
A) which seemed to have been hungry for A) One shouldn’t expect young children to be
days that careful
) B) as she felt like taking it to her home right B) Traffic accidents are horrible to watch on
3 away the news
= C) as soon as Clara had heard its weak C) Their divorce would have been a
meowing particularly difficult one
..g’ D) that people are too heartless to care about D) Deciding what to watch during the prime
= animals time was hard
b E) that she couldn't help feeling pity for it E) People spend less time at department
(/)] stores than before




7. The Ottoman army consisted of such great
warriors ----.

A)
B)
C)
D)

E)

8. -,
A)
B)
C)
D)

E)

as the Janissaries were famous for their
exceptional fighting skills

that its recession period started as early as
the seventeenth century

that it was feared almost as much as the
Mongols

whenever historians refer to its strength in
its time

all of which were trained in special
techniques

the faster and deeper you sink in it.

The more you struggle to get out of a
quicksand

It is less likely that you will survive a ship
accident

No matter how much you try to get out of
the river with army equipment

Jumping into the water with such heavy
clothes

As you begin to swallow water in the sea

| regret to say that the story Petra told us

sounded more ----,

A)
B)
C)
D)

E)

or less the same lie as all the others had
told us before her

than we were prepared to hear from a small
girl like her

from her point of view of all the events that
had happened

like a desperate attempt to put the blame
on the others

as though she wants to distract us from the
main point
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10. ---- for me to propose to her yet.

1.

12.

A) Tough I love her, | don’t think Gracie feels
the same as

B) She has tried it so many times, but it is so
difficult

C) Since we have known each other for three
months, it is too soon

D) If only she gave me a sign which would be
enough

E) As we have been friends since last June,
she doesn’t expect

Although | have been away for only two
days, the flat looks ----.

A) much less terribly than | had feared

B) so clean that | am not sure if it is really
mine

C) like a tidy and clean place

D) such untidy people that they don’t even
make the beds in the morning

E) asifit had been neglected for weeks, if not
for months

---- as one would expect it to do judging
from how it looked.

A) Most of those who asked for the prices of
the items found them too high

B) The city was not so populated during winter
months

C) The small sized dog seemed eager to take
on the huge on

D) We discovered that the dish tasted as
horrible

E) We couldn’t decide whether it looked like
rain or not, as much
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1 - 12. sorularda ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

It did not take him long to realize it was too
late ----.

A) that he wanted to change the date of the

flight ticket

B) apologizing to his wife for not remembering
their wedding anniversary

C) to be prepared and served as dinner for the
guests

D) for him to rectify what he had done in the
past

E) to the way of informing the others about his
change of plan

----, the more time a computer takes to
perform it.

A) Just as it is the case with human brain, the
more complex an operation is

B) The less it takes the computer to perform a
certain task

C) The more you will have to wait for it to be
completed

D) As there are more pixels to a particular
image file

E) The less we would need it to be done by
one

There is such useful information about
gardening in this magazine ----.

A) that | haven't thought of subscribing to it

B) where | have a bed of rare flowers that | am
proud to own

C) when | discovered it by chance during a
visit to the local florist’s

D) that! can say it is the only resource | owe
all I know

E) as the others that you can find at any
newsagent’s
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ADJECTIVES - ADVERBS &
COMPARISON

entence Completion

---- as if someone had been grilling

something shortly before.

A) The neighbours can’'t seem to tolerate

anything

B) As there are charcoal pieces spread about
the place

C) What we first noticed was that the place
smelled

D) Peter asked the next-door neighbours for
their garden grill

E) That all of a sudden he felt like eating
grilled meat

The airplane Concord shortened the
transatlantic journey to ----.

A) travelling at the highest luxury level you can
ever get

B) what ordinary airlines could cover in no less
than ten hours

C) less time had to be spent on it than on
ordinary ones

D) much faster than ordinary aircraft even
today cannot match

E) less than four hours owing to its speed that
was twice as fast as the sound

---- as those of acupuncture except for the
needles.

A) The practitioners of alternative medicine
should know well what they are doing

B) There is a multitude of recipes for kitchen
medicine out there

C) A new laser therapy method to stop
smoking uses the same principles

D) Ithink | could try that method you
mentioned

E) In many cultures, there are traditional
medicines




Of all the countries in the world, Greenland
has ----.

A) hardly any vegetation except on some of its
coasts

B) been inhabited for a relatively short period
of time

C) been part of the kingdom of Denmark since
1953

D) the largest area for the smallest population

E) such a small population that almost
everyone knows each other there

----, Ganymede is known to be the largest
moon.

A) Because Mercury has twice the mass of it

B) Despite its size, unlike Titan, it lacks an
atmosphere

C) Although it has a diameter of 5262 km,
which is more than that of others

D) It would be large enough to be a planet if it
orbited the sun

E) Of not only Jupiter but also our whole solar
system

So gripping to read was the book and so
engrossed did | get in it ----.

A) that the readers could easily guess its
ending

B) it seems to me as if | myself was a
character in the novel

C) than one can ever come up with such an
incredibly beautiful story

D) soldidn't realize it was past dinner time
when | stopped

E) that | couldn’t put the it down for a moment
until | finished it
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10. ---- to be lethal to people and all livestock on

1.

12.

farms.

A) Starving wild animals have started to visit
urban areas

B) Hailstones have been recorded to be large
enough

C) Chemicals used in agriculture pose a real
threat

D) The health threat of acid rains has been
rising

E) Inrecent years, there have been a number
of epidemics

The discussion on TV last night proved to be
not so informative ----.

A) and wide-ranging as we had expected it to
be

B) that | had been looking forward to it for the
whole day

C) where all kinds of programmes tend to be
like magazines

D) that was about the future of global economy

E) whereas it was one of those trashy celebrity
gossips

----, who, like all the other natural spirits, is
older than the principal Greek gods.

A) Zeus was the highest of the principal gods
in Greek mythology

B) Unlike the others, nymphs were associated
with a particular location

C) One of the deities that have several
variants in ancient cultures is Pan

D) As Hades was the Greek god of the
underground

E) Gaea was the great-grandmother of the
principal deities
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1 - 20. sorularda, parcalarda
numaralanmis yerlere uygun diisen
soOzciik ya da ifadeyi bulunuz.

Cows sense the magnetism of the earth. Using
satellite images, scientists examined (1) ----
numbers of cattle around the world. The result
was that most of the time, cows tended to face
either north or south. Factors like wind and the
angle of the sun had hardly any effect on it.
More often than not, (2) ---- needles of a
compass, heads turned northward. What's more,
it seems this magnetic sense of cows is (3) ----
efficient in orientation than (4) ---- in birds, bees
and fish. It is speculated that it allows the huge
mammals to be spatially oriented and decide

(5) ---- on the direction to run in case of danger.

1.
A) larger than
B) large
C) largest
D) as large as
E) rather largely

A) the same
B) as
C) suchas
D) asif
E) like

A) enough

B) much less
C) noless
D) too much
E) rather too

A) ones

B) one’s

C) the ones
D) one

E) the ones’

A) earliest

B) early enough
C) far earlier than
D) so early that
E) too early
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ADJECTIVES - ADVERBS &
COMPARISON
Cloze Test

The gods and goddesses of ancient Egypt
totalled (6) ---- fifty individual deities. The gods
worshipped by these earlier tribes were normally
embodied by animals. (7) ---- Egyptian
civilization grew, the deities took on (8) ----
human characteristics. The deities were usually
depicted (9) ---- humans with animals heads. By
the beginning of the Old Kingdom Dynasty, a
national religion developed out of these tribal
ones. However, the ongoing changes in political
power were (10) ---- they resulted in changes to
the status of Egyptian deities.

A) so many as
B) far more
C) as much as
D) more than
E) the least

A) As
B) The more
C) Like
D) Justlike
E) Similar to

A) the more

B) more and more
C) asfaras

D) the most

E) as many as

A) similar

B) such as

C) alike

D) like

E) as muchas

10.
A) too strong
B) strong enough
C) so strong that
D) stronger than
E) the strongest of

£
%
g




With a body-mass index of three times (11) ---- a
normal individual, Sumo wrestlers have unusual
diets. They eat a Japanese dish called Chanko-
nabe. It is a kind of stew which includes large
quantities of protein sources (12) ---- fish and
chicken in addition to plenty of vegetables, which
is without doubt (13) ---- anyone would need
throughout the day. Unfortunately, being
between 60 and 65, the average life expectancy
of a sumo wrestler is around ten years (14) ----
the average Japanese male. This is mainly
because of their lifestyle causing illnesses

(15) ---- liver disease, heart disease, and high
blood pressure.

11.
A) quite high
B) too highto
C) as high as
D) the highest
E) higher

12.
A) such as
B) justas
C) similarly
D) the same
E) similar

13.
A) much as
B) too many to
C) atleast
D) far more than
E) the most

14.
A) the shortest
B) much shorter
C) too short
D) as short as
E) shorter than

15.
A) justas
B) like
C) as much as
D) the same as
E) as
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Despite its huge size compared to Earth, the
rotation rate of Jupiter is more than two times
(16) ---- that of our planet, causing it to bulge
significantly around its equator. What is even
(17) ---- is that almost eighty per cent of its
volume is taken up with a (18) ---- large layer of
liquid metallic hydrogen that has some of

(19) ---- properties as iron or nickel, and it can
conduct electricity. This layer is (20) ----, coupled
with its enormous rotation speed, it gives Jupiter
the very strong magnetic field that it has been
measured to have.

16.
A) too fastto
B) the faster
C) fast enough
D) rather fast
E) asfastas

17.
A) as interestingly
B) too interestingly
C) more interesting
D) such interesting
E) quite an interesting

18.
A) much
B) pretty
C) alot
D) quite
E) by far

19.
A) similar
B) likely
C) as
D) the same
E) likewise

20.
A) large enough
B) much larger
C) so large that
D) too large
E) far larger than
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1.-12. sorularda, verilen ciimleye
anlamca en yakin cumleyi bulunuz.

1.

Only when Hutson gets here will the meeting
begin.

A)

The only person who will be here when the

meeting starts will be Hutson.

B) The start of the meeting occurred at the
same time as Hutson'’s arrival here.

C) By the time Hutson arrives, the meeting will
have already started.

D) The meeting won't start until Hutson turns
up.

E) The only person who is able to start the

meeting is Hutson.

2. Few books have had as great an impact on

the world history as the Analects by
Confucius.

A) Confucius wrote many influential books on
world history, one of the best of which is the
Analects.

B) No other book has had as great an impact
on the world history as the Analects by
Confucius.

C) Analects by Confucius is one of the few
books that have had most influence on
world history.

D) The Analects by Confucius is among the
few influential books written on the history
of the world.

E) Except for a few, no other book has had
more impact on the world history than did
the Analects by Confucius.

3. The allusion was such that only the persons

in question could get it.

A) Except for those it was made for, no one
understood the allusion.

B) It was alluded that it could not be
understood by anyone but those in
guestion.

C) The allusion couldn’t be understood even
by those in question.

D) No one, except for those in question, was
able to understand that there was an
allusion.

E) The allusion was questioned only by those
who could understand it.
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ADJECTIVES - ADVERBS &
COMPARISON

Paraphrasing

4. The older my father gets, the more forgetful
he becomes.

A) My father is unlikely to forget anything even
though he is getting older.

B) Because he is getting old, my father will
soon start forgetting things.

C) My father, who has always been absent-
minded, is very old now.

D) My father had a good memory before he
got old.

E) As my father gets older, he is getting more
and more absent-minded.

5. To our surprise, almost the same questions
as the ones before were asked in the
geography exam.

A) They asked nearly the same questions on
both geography tests so as to surprise us.

B) What surprised us about the geography test
was that all the questions were almost the
same as the previous ones.

C) Surprisingly, the questions on the
geography test were much more similar to
those they had asked before.

D) We were surprised to see that the
questions in the geography exam were
nearly identical to the previous ones.

E) They almost asked the same questions on
the geography test as those in the previous
one, which would have surprised us.

6. It was more than a little strange to hear Julia
and Brian were getting married so soon.

A) What Julia found so strange was that Brian
wanted to marry her so soon.

B) It was not that odd that Brian wanted to
marry Julia as soon as possible.

C) 1 would never have expected to hear about
the wedding plans of Julia and Brian so
soon.

D) | was pretty surprised to hear that Julia and
Brian were getting married so soon.

E) So soon did Brian and Julia get married
that | found it too strange.




7. The more famous the artist is, the more
expensive his painting is.

A) The very pricey painting has been painted
by a very well-known artist.

B) Well-known artists only paint paintings for
wealthy customers.

C) The price of a painting is tied to how well its
artist is known.

D) Only one very valuable painting has been
painted by this well-known artist.

E) Once an artist has become well-known, he
can charge as much as he likes for his
paintings.

8. We need someone more qualified than the
ones who applied for this position.

A) The person we need for this position should
be more qualified than the ones that
applied.

B) There are several applications for this
position, but none of them is as qualified as
this one.

C) We need to have more than one qualified
person for this position for which there have
been several applications.

D) The ones who applied for this position are
far less qualified than the one we previously
had in this position.

E) The people applying for the position are all
qualified, but we need one even more
qualified.

9. Contrary to our expectations, it turned out to
be a very enjoyable party.

A) We did not realize at first that the party
would be as enjoyable as one could ever
expect.

B) Although we did not want to attend it at first,
we enjoyed it towards the end of it.

C) The party, which at first seemed to be
rather dull, later became more and more
enjoyable.

D) Though we would never expect it to be, the
party was the most enjoyable one we had
ever been to.

E) The party proved to be very enjoyable, but
we had expected it not to be.
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10. The wind at the moment is as strong as it's

11.

12.

going to get today.

A) The strongest wind there is going to be
today is now about to come.

B) The wind won't get any stronger today than
it is right now.

C) The wind still has the same strength that it
has had for the whole day.

D) The wind has never been as strong as it is
today.

E) Now, the wind is very strong, and it will get
stronger during the rest of the day.

Having lived through a similar period in her
life, she quite understands his situation.

A) He had experienced a period like the one
she is having, so he knows how she must
be feeling.

B) Since she once experienced a period like
his, she totally understands him.

C) As he had suffered a similar period before,
she knows how he feels in such situations.

D) Because there is hardly any difference from
what he and she lived through, they
understand each other well.

E) The fact that she was having the same
difficulties as him enabled her to
understand him well enough.

Since the beginning of the recession in the
US, the number of meals bought at fast food
restaurants has fallen.

A) Not as many meals were bought at fast
food restaurants in the US before the
recession as are bought now.

B) After the recession in the US began, people
barely stopped buying meals at fast food
restaurants.

C) Hardly anybody buys meals at fast food
restaurants in the US every time there is
recession in the country.

D) Fewer meals are bought at fast food
restaurants in the US than bought before
the recession there started.

E) The recession in the US has negatively
affected the number of meals bought in fast
food restaurants more than anything else.
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Emily’s appearance at the party was ---- her
disappearance a few minutes later.

A) the least unexpected of
B) as unexpected as

C) less unexpectedly than
D) so unexpected that

E) so unexpectedly as

As the change in average global
temperature is rather ---- subtle to attract
any notice, people don’t realize the danger.

A) such

B) fewer
C) quite

D) much
E) too

Although he had actually waited for the best
time to do so, Dave chose ---- moment to ask
for a pay rise.

A) as little awkward a
B) the less awkward
C) least awkward

D) too awkward

E) the most awkward

| don’t believe that Sam is patient ---- with
small children to be able to work ---- a
primary school teacher.

A) ----/as though

B) as well/like

C) enough/as

D) rather/such as
E) as much/as to be

Mike was annoyed about the results too, but
a little ---- so ---- the others.

A) fewer/than
B) less/than
C) ----/much that
D) more / that
E) too much/to
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6.

10.

ADJECTIVES - ADVERBS
& COMPARISON

The shopkeeper kept me for ---- a while until
he returned with the pair of shoes | asked
for.

A) too much
B) quite
C) very
D) pretty
E) fairly

What do you mean by “the luggage has not
been packed well enough”? | don’t think it
can be packed ---- than this.

A) the worse

B) so much better
C) too worse

D) any better

E) much worse

The ---- price and reasonable running costs
makes ---- one of the two models of cars
vastly preferable to the other.

A) lowest / cheaper

B) lowly / cheapest

C) low/the cheaper

D) lower / one cheaper
E) lowest/the cheapest

Elderly people are usually ---- slow at
adapting to change ---- they find it really
hard to keep up with the times.

A) quite / that

B) very/such that
C) fairly / than

D) rather/ like

E) so/that

Despite being filled with envy for Pamela,
Julia tried hard to seem ---- she had not been
impressed with her success ---- much.

A) asif/that

B) similarto/so
C) like/very

D) likely that / quite
E) asthough/at




1.

12,

13.

14.

15.

---- the resolution of a digital picture is ----
amount of memory it takes up in the
computer.

A) So detailed as / much less

B) No less detailed / so much more
C) The more detailed / the more

D) More detailed than / too little

E) As detailed as / very few

The questions on the level test were actually
---- difficult for grade five students to be able
to answer.

A) so many
B) rather fewer
C) the more
D) as much
E) much too

It soon turned out that the new manager was
not ---- professionally competent after all ----
to head a large company of that scale.

A) quite/so
B) so/as

C) less/than
D) too/----

E) more/than

High intelligence quotient manifests itself in
the way the child discovers how ---- to
another a particular pattern is.

A) similar

B) different
C) similarly
D) the same
E) likely

The decoration of the room was ---- plain,
but still ---- attractive.

A) completely / not much
B) quite / enough

C) rather/ so little

D) absolutely / quite

E) extremely / not such
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16.

17.

18.

19.

20.

The new bridge, which is estimated to cost a
million dollars ----, is believed to ease the
traffic across the strait ----.

A) by far/so much

B) at most/tremendously
C) as much/enough

D) the most/ fewer

E) mostly / any more

The government is expected to step back
from its nuclear policy in the face of ----
opposition and frequent protests.

A) such a lot of
B) too little

C) so many

D) quite a few
E) rather than

In a simile, ---- a metaphor, the resemblance
is shown explicitly with the inclusion of the
words “like” or “as.”, which is never the
case in ----.

A) as/the one

B) like / one

C) unlike / the latter

D) similar to / the former
E) suchas/any

The techniques used in pottery have
remained almost ---- ever since it was
invented in the Neolithic period.

A) similarly

B) as much as
C) identically
D) the same
E) as alike

When their smallest child was diagnosed
with leukaemia, the financial problems of the
couple became ---- of their worries.

A) too little

B) as much
C) less

D) much more
E) the least
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